ACA/ACJZR 3 JE 2% i 25

0 5 B R R 5% 14

SHNRAFBELEY, BRNDZENEE

% i B 5E E ATik
BREAR
PRPAR
RRERD)

R GEUNRE

RBFEOE, BRRERE.

EMEAE —

ACA: tREBSIMET
ACJ: TEBEFIMMET

ACA/ACJIZRFI = m# %

ToREE

— —XEH

ZPIENE i

A7

BRFHER

—— ZFMHAE

KR ENE

= m g
i 172 | AWM /I EORUSAE ‘ﬁtﬁﬁig(kg‘) _n'u'.'é.'iiﬁ‘iiﬁ(m/‘s) 8 . 12 | AWM DHBKE BXER BAEEG BE
(mm) BEE(Nm)| E(Nm/h) &R  h#ER | (KR ZEE | pEE | (KEE | (9) (mm) gEE(Nm) E(Nm/h) EE(kg) EE(m/s) (g)
ACA0806| 6 3 5400 5 20 25 4 2 1 12 ACJ1007 | 7 6 14500 50 4 28
ACA1007| 7 6 14500 10 40 50 4 2 1 26 ACJ1210 10 10 30000 30 4 43
ACA1215| 15 14 35000 25 90 115 4 2 1 48 “aci2020 | 20 50 0000 960 I 189
ACA1412] 12 18 36000 30 110 | 150 4 2 1 70 Acjom0E | 25 100 25000 1600 4 208
ACA1416| 16 22 39000 40 140 | 180 4 2 1 78
ACA20 20 25 | 4000 | 45 | 155 | 200 | 4 | 3 | 1 g5 ACHSE0[ S0 180 | gsoo0 | a0 | 4|5
ACA1616| 16 35 43000 60 220 | 285 4 2 1 |105
ACA1620 20 | 40 47000 70 | 250 | 325 2 2 1 [115 _ACJ2780 | 50 | 250 95000 4000 4 510
ACA1625| 25 45 51000 80 | 280 | 365 4 2 1 125 _ACJ3325 | 26 180 100000 2880 4 540
ACA2020| 20 60 50000 240 | 660 | 960 4 2 1 175 ACJ3350 | 50 300 110000 4800 4 800
ACA2025| 25 65 54000 260 | 720 | 1040 4 2 1 185 ACJ3625 | 25 220 125000 2500 4 750
ACA2030| 30 70 58000 280 780 | 1120 4 2 1 210  ACJ3650 | 50 350 130000 5600 4 950
ACA2040] 40 80 65000 320 | 890 | 1280 4 2 1 | 225 ACJ4225 | 25 350 150000 5600 4 1150
ACA2525| 25 100 75000 400 | 1100 | 1600 4 2 1 290 ACJ4250 | 50 700 180000 11200 4 1420
ACA2550| 50 150 85000 600 | 1650 | 2400 4 2 1 370 ACJ4275| 75 | 1050 210000 16800 4 1720
ACA2725| 25 140 85000 560 | 1550 | 2240 4 2 1372
ACA2750| 50 | 250 95000 | 1000 | 2780 | 4000 4 2 1 475
ACA3325| 25 180 100000 | 720 | 2000 | 2880 4 2 1 |59
ACA3350| 50 | 300 120000 | 1200 | 3300 | 4800 4 2 1 | 750
ACA3625| 25 | 220 135000 | 880 | 2400 | 3500 4 2 1702
ACA3650| 50 | 350 150000 | 1400 | 2500 | 5600 4 2 1 |889

413




o

WBh T —

il FE 2% i 25

AIl'TAL

ACA. ACJ®S5I

i

o o~ W N =

. EBMREVIRIVRR.

=tRe,

SSAFEDH, EAOZEDBEE.

RS, IREBSE]; ERUTIMARLZRBROE, EREEVEILAL.
. BEERHHEN, SR PSP,
« BIROVEB T2 BE PesaiEM A IR E.
< INEESIRE; RARNEEES.
« RERPEBBIEAZPNR, SREEREN , HPMRE,

PIEIRMARELS, RIREESTE NEBEA.

3T 95
ACA 20 20-1 N
DOHERES @k 5p3F %5 GEERS GpERERS
08: M8
12- m =8 BRHER
: N:. ToBoiElg
14. M14 . EREAE)
e N 16. M16 ; ?%Ecégﬁ)
ACA: TREBNMETUBEZ DS : : IR(PAE
20: M20 . N =8 BRHEE
5. M25 3: MRERH) F. BEphEiE
27. M27 N: 7oRsiEls
33: M33 =8 BRIPHEE
36: M36 VAR F. ZKBHIEB
10: M19 0. BRENR
12: M12 N: JoBhiEig
14. M14 :
B 20: M20 =8 BRF5ER
ACJ: TIEEMIMMETVBELSPSS |25 M25 TS F. ZKEPHEIR
27. M27 N: 7oBhiEls
v Mo F. ZkEpHiEIE
MEEHMREEFHME

Al

09 92.9:2¢

e (1a® 29 %

——f

& b bbbnn

19 23021 @5

FS 43 MR FS 2% MR
1 fiElg PA66(M8)\TPU(M10~M14N\TPUD,S45C(M20~M42) 14 EE il
2 | hEBERE) ToMBNREINETE) 15 SPEEE SPEIN
3 OB NBR 16 MEED
4 HEM RN (MB~M27)\S45CIHERE (M33~M42) 17 AL
5 R To(M8~M10)\SEEEN(M 12 ~M42) 18 BEE SWPB
6 A& HAMBINEREIEN(MTONEB(M 12 ~M42) 19 NER GCr15
7 =0 Fo(MSN\TPU(M10~M42) 20 OFZIA NBR
8 28105 NBR 21 1Y iR2 BSEN
9 OB NBR 22 1IEViR2 5EN
10 SIER i 23 B il
11 JNFBIRIE SS41 24 1R 5N
12 NN IREI 25 DEhs)Ez! 86
13 BNl RIS 26 s SUS304(M10~M1ANT(ETE)
Py 414



§B) T ——h 4% i 28 AIl'TALC

ACA. ACJ®S5I

RAWUEEE 5EE L%
i &1:ACA0806-1~ACA1625-1 E2:ACA0806-2~ACA1625-2 | E3:ACA0806-3-ACA1625-3
40 30,,# 1 _[ACA1626-3
35 35
30 30
25| 25
€ 22 E 22
b= =z
TH?H 16 L 12
I
012 LRP
= 10 g 10
= 6 X 6
B 3 7 3
K 2 K 2
B 1 B 1
0 03 0756115 234 , 0o
REV(m/s) REV(m/s) REV(m/s)
E4:ACA2020-1~ACA3650-1 E5:ACA2020-2~ACA3650-2 E6:ACA2020-3~ACA3650-3
i1 I TRCATEEOLT ] 30T T /ACA3eE017 ] 358
300f -—f--F-- e 300t —— -+ ——— A AxrraEs 300
; e
% L R/ 77 Ahssiaiion i
Eire Ry e 7 daaatin r
Z140 E ) — 140
Ml i i
o Bi% g8
& 89 = 80 = 80 ACAZ040-3
X 70 X 70 X 70 / =2
&2 &2 I ACA2030-3
@ 83 o g @ gol/ ACA2Q25—
K 40 = ALAZUAD = 404 K 40
I 30—t - = === 1 30 15 30
0 0305 115 234
REV(m/s) REV(m/s)
BE: 1. ARAUTREEXBE VBN E P TRINNESEE. 2. EEEEPIRARINEEE920% ~80%XBEARELA,.
Zp e h &
8.0 -80.0 . B, e
/—\ / 283 WBHR: ETEDBN, URRNRIEADHRINEES,
~ 60 pal=C) &84 600 BTSN RRRNES, BRAZITIERRNE
= S X £
— —
4.0 -40.0
o /_/ 0
= e
2.0 JV(V“_/J +20.0
0.0 , L0.0

0.0 5.0 10.0 15.0 20.0
7% (mm)
ShER AR A%
ACA —
sl ; < |
ol LA SR ol T T <
[ ol [P U E 1]
- B D K
R g —-— | “\JO9) E
YR B iENE D
HEGS A B|] C D H[1[J c
ACA0806, M8x1.0 | 6 | 46 | 32 65| 6 | 11
ACA1007| M10x1.0 | 7 | 56 | 41 85 7.5 14 e
ACAT210 M12x1.0 |10 63.5 | 47.5 10 7.5 17 BS\HS A B . C D E|F G H I J K
ACA1215] M12x 1. 15| 79 58 10 |75 17 ACA3325/ M33x1.5| 25 [148|81.5 |8.56| 10 |10/27.8| 15 | 41 | 25
ACA1412 M14x1.5 | 12| 80.5 | 62.5 12 [12 [ 19 ACA3350 M33x 1.5 50 |213/121.5/8.5| 10 |10|27.8| 15 | 41 | 25
ACA1416| M14x 1 16 92.5 | 70.5 12 112 119 ACA3625/ M36x 1.5 | 25 |148| 81.5 8.5/ 10 | 10/27.8| 15 | 46 | 25
ACA1420| M14x1.5 20| 103 | 77 12 |12 119 ACA3650| M36x 1.6 | 50 |213|121.5/8.5| 10 |10|27.8| 15 | 46 | 25

ACA1616 | M16 x 1
ACA1620| M16 x 1
ACA1625| M16x 1
ACA2020| M20x 1
ACA2025| M20x 1
ACA2030| M20x 1
ACA2040| M20x1
ACA2525| M25x 1
ACA2550 | M25x 1.
ACA2725| M27 x 1.
ACA2750 | M27 x 1

ool || o o or| on|onfon oo | o | o | ©
Nl ro| =
ol|o|o
=
==lo
N o
ol
o
oo
©
B9
[eegreelteoiecIBNIENIBNIENIC IS IS HS IS HS IS IS IS IS,
oo oo oo o oo oo oA Am
0|0 o o|o|o oo olool B A A W www®
-
o
N
N
=

aQ 415



WBh T —

il FE 2% i 25

AIl'TAL

ACA. ACJ®S5I

ACJ |
_’_"— 1T
3 J— — - 3 3 B
, Jd LR - LA :
- eB = \J(iﬁﬂé £ ¢ e 8 BN e
K c R 0 E
mewys| A B/ c | b EF|/G|H/ 1] mewys| A [B| ¢ | D [E|/F|[g/H |1 [J]K
ACJ1007 | M10x1.0 | 7| 67 | 455 | 11 | 4 | 3 | 85 |75 14 ACJ3325/M33x 1.5/ 25 156 | 82 | 16 | 10 | 10|27.8| 15 | 41 | 25
ACJ1210| M12x1.0 |10 74 | 52 | 11 | 4 | 3| 10 |7.5] 17 ACJ3350| M33x 1.5 50 | 221 | 122 | 16 | 10 | 10|27.8| 15 | 41 | 25
ACJ1412 | M14x1.5 |12 91 | 665 116/ 6 | 4 | 12 | 12| 19 ACJ3625| M36x 1.5 25 156 | 82 | 16 | 10 | 10|27.8| 15 | 46 | 25
ACJ2020| M20x 1.5 |20 1245 90 |[13.5| 6 | 6 | 18 | 15| 26 ACJ3650 M36x 1.5 50 | 221 | 122 | 16 | 10 | 10|27.8| 15 | 46 | 25
ACJ2525 | M25x 1.5 |25/132.5| 92 |145 6 | 6 | 23 | 16 | 32 ACJ4225|M42x 15|25 161.5| 855 | 16 | 12 | 12|34.8| 15 | 50 | 25
ACJ2550 | M25x 1.5 |50|192.5| 127 [14.5 6 | 6 | 23 | 16 | 32 ACJ4250| M42 x 1.5| 50 | 226.5/125.5| 16 | 12 | 12|34.8| 15 | 650 | 25
ACJ2725| M27x 1.5 |25 137 | 965 |14.5| 6 | 8 |24.5| 17 | 36 ACJ4275|M42x 15|75 | 291.5|165.5| 16 | 12 | 12|34.8| 15 | 650 | 25
ACJ2750 | M27x 1.5 |50 202 |136.5(14.5| 6 | 8 |24.5| 17 | 36
M
ERZEH LT F-ACA 08 LM
e | )
s {He=— |
eEae \EnEirEe 3 WERS [QEMBRS [QRFTAE | OHERS
3 08: M8
! 10: M10
| i 12: M12
} 3 16: M16 | LM: ELSIERIB
LN | 20. M20
ENE I IRE | 25. M25
| 27. M27
3 33, M33
: 36: M36 |LM: ENIZILIRIE \ FA: A=
42. M42 |FA; #=
ShER AL AR A
A BEGS A B/C D
ﬁ]; ):( F-ACAT4LM M14 x 1.5/19/27/18
F-ACA16LM M16 x 1.5/21/32/20
LB | c S~ 11  F-ACA20LM |M20x1.5 263525
F-ACA25LM |M25 x 1.5/32|45|31
BS\ES A B C F-ACA27LM |M27 x 1.5/36/50/35
F-ACAO8BLM | M8x1.0 11 14 ‘ B | c F-ACA33LM [M33 x 1.5/41/80/40
F-ACA10LM M10x1.0{14/16 F-ACA36LM |M36 x 1.5/46/80|45
F-ACA12LM M12x 1.0/17/20
F-ACA36FA
3 et
-  BER
gz | | WEmS EREA BN
gd ﬂ . F-ACAO08LM ACA0806
| F-ACA10LM ACA1007. ACJ1007
4-085 M36x 1.5 [16] | F-ACAT2LM ACAT1210. ACA1215, ACJ1210
| F-ACA14LM ACA1412, ACA1416. ACA1420, ACJ1412
F_ACA42FA F-ACA16LM ACA1616. ACA1620. ACA1625
' F-ACA20LM ACA2020. ACA2025. ACA2030, ACA2040. ACJ2020
. F-ACA25LM ACA2525, ACA2550. ACJ2525, ACJ2550
| F-ACA27LM ACA2725, ACA2750. ACJ2725, ACJ2750
Q54 | F-ACA33LM ACA3325, ACA3350, ACJ3325, ACJ3350
a4 | ' F-ACA36LM ACA3625. ACA3650. ACJ3625, ACJ3650
| F—ACA36FA ACA3625. ACA3650. ACJ3625. ACJ3650
M42x1.5 3 F-ACA42FA ACJ4225, ACJ4250, ACJ4275

416



o

§B) T ——h 4% i 28 AIl'TAL

ACA. ACJ®S5I
ik

SI=ERGEHY, BiSEESHE® B{7. J (N.m) ERERAS
BEfT(mm) 6 | 7 | 10 | 12 | 15 | 16 | 20 | 25 | 30 | 40 | 50 | 75 "
6 |0.102/0.119/0.170/0.203/0.254/0.271/0.339| 0.424 | 0.509 | 0.678 | 0.848 | 1.27
8 [0.181/0.211/0.301/0.362/0.452/0.482/0.603| 0.754 | 0.904 | 1.21 | 1.51 | 2.26
10 |0.283/0.330/0.471/0.565/0.707/0.754/0.942| 1.18 | 1.413 | 1.88 | 2.36 | 3.53
12 |0.407/0.475/0.678/0.814/1.017/1.085| 1.36 | 1.70 | 2.035 | 2.71 | 3..39 | 5.09
16 |0.723/0.844 1.21 | 1.45 [1.809/1.929| 2.41 | 3.01 | 3.617 | 4.82 | 6.03 | 9.04
20 | 1.13]1.32|1.88|2.26 |2.826/3.014| 3.77 | 4.71 |5.652 | 7.54 | 9.42 | 14.13
25 | 1.77 | 2.06 | 2.94 | 3.53 |4.416/4.710| 5.89 | 7.36 |8.831 | 11.8 | 14.7 | 22.1
= 32 |2.89/3.38]4.82[5.79(7.235(7.717/9.65 | 12.1 | 14.47 | 19.3 | 24.1 | 36.2
il 40 |4.52|5.28|7.54|9.04|11.312.06/ 15.1 | 18.8 | 22.6 | 30.1 | 37.7 | 56.5
A 50 | 7.07 | 8.24|11.8|14.1|17.7 |18.84| 23.6 | 29.4 |35.33 | 47.1 | 58.9 | 88.3
= 63 | 11.2/13.1/18.722.4|28.0(29.9137.4| 46.7 |56.08| 74.8 | 93.5 | 140.2 [IFRZ(.
(mm) ""80 | 18.1]21.1]30.136.2 | 45.2 48.23 60.3 | 75.4 | 90.43 | 120.6 | 150.7 | 226.1 =[F0.6MPa, /& ©A0HSH 2 EEE L NTi21 2mmEy

100 | 28.3[33.0|47.1|56.56|70.7 75.36/94.2 | 117.8|141.3|188.4 | 235.5 | 363.3 = 2545 m 5 m
125 |44.2|51.56|73.6|88.3/110.4/117.8/147.2| 184.0|220.8 | 204.4 | 368.0 | 662.0 FEREE0.04N.m, SEPEMBR, THACA141 2

160 | 72.3  84.4 120.6 144.7/180.9192.9|241.2 301.4 | 361.7 | 482.3 | 602.9 | 904.3 ZoPemasll Livo

200 [113.0/131.9/188.4]226.1/282.6/301.4/376.8| 471.0 | 565.2 | 753.6 | 942.0 [1413.0 &F: SEDRAZLY, FHESEINKRPESHE2ASE,
250 |176.6/206.1/294.4|353.3|441.6/471.0/588.5| 735.9 | 883.1 |1177.56/1471.9/2207.8

320 |289.4/337.6 482.3/578.8/723.5771.7|964.6|1205.8/1446.9 1929.2 24115 3617.3

RESER

1. TRREPSEONFEZEN0~9 (8) , B IREA6 (4) E, ONWMRIR, INMERLE;

2. EREAEPss, ISMERBR, REEERIS;

3. RUAZPSETRDBNIBNRSENSR, RAZEPEEUNEBEIYS, MEREPSTERNS
B, (-1) , TRREPSNFERERE, BZEE/ASOSE;

4, RUAEDPSETEERIVBNSBENR, REAZEPEEUEEEUR, MEREPSEHFBRARER
B, (-3), TBHEPSVFREREL, RABEREISOSE;

5. ZMSETIFIREPURILELNOEST, RULBENEI® A, FEEMHIEEPS;

6. PSS LIFREEEE: -5~70C ;

7. NEKEASD, SEMTRMEA mMmARL, JRSEMSIREZR, BWMBRTERE;

. BlZEmsz A EEPesty, EIABESEE;

9. FREENKLEEMNRR. IFEABBRENRES.

10, BEAZATFREEEMS, DeRER%, SIREENAEMNR,

11, ZREPSEN, EANBATAKR, BNUREMREA, HLZENDEEATBIY TRNESLE.

7

[e0]

ER L] ShIB MR RARENIE(N.m)
ACA0806 M8x 1.0 [E1] 2.0
ACA1007. ACJ1007 M10x1.0 3.5
ACA1210. ACA1215. ACJ1210 M12x1.0 8.0
ACA1412, ACA1416. ACA1420. ACJ1412 M14x1.5 11.0
ACA1616. ACA1620. ACA1625 M16x1.5 15.0
ACA2020. ACA2025. ACA2030. ACA2040. ACJ2020 M20x1.5 24.0
ACA2525. ACA2550. ACJ2526. ACJ2550 M25%1.5 40.0
ACA2725. ACA2750. ACJ2725. ACJ2750 M27%1.5 63.0
D11 EFHACA0806#IAS, KARFZEN, ABRNNFRIRR: ©7.17%"
i sEEXEAITE
KEHEER EHETH EEEE
1. BHERKFIES v rLﬂ 1. BAEK 1. #F
BEFS ko) m =M | wsrE w0 m BEFRE ko) m
ETRE(m/s): v EERE(m/s): v BdRE(m/s):  v=Rx w»
_ 2 _
ShEE (JIN.m): E1:m—>2<" mhAE (JIN.m):  El=mxgxh e (JIN.m):  El= IxTwZ
IXFDEEJ(N.m):  E2=0 IXEDEEJ(N.m):  E2=mxgxL INFAESJ(N.m):  E2= %
SEZEUIN.m):  E=E1+E2 SEZEUIN.m):  E=E1+E2 SEESUIN.M).  E=E14E2
2, SE#EHTHKEES v FL” 2, RETH 2, hE¥
= L7 BOHMRE (kg): m
gEEE ko m Pl 0] T saEs ko om o
3 577 : BHEE(M/s):  v=Rx w
EHREmM/s): v EHREMmM/s): v v I o8
2 2 —hat
e UINm):  E1= DXV e UINm):  ET=TX = mEe JIN.m):  ET1="08
IXADEEWJIN.m):  E2=FxL WFEEJIN.m):  E2=(mg+F) xL WADHEUIN.m):  E2=TxL
SELBUIN.m).  E=E1+E2 SEEBUIN.m).  E=E1+E2 DELEUIN.m):  E=E1+E2
S =¥ [==1iv] %=} =¥ =211V %=} =X
m ETRE kg F #7(( xD*x P)/4) N N BT
v BOHRE m/s D SRR mm R RPN ELGRER m
E SEE2 J(N.m) P BARSE MPa | IBMFB(I=mr2/2) kg xm’
E1 AR JIN.m) L EDTE m o | FRE(e=2TN/60) ads
E2 IXTDAE J(N.m) h BHsE m (90° =1.57rad/s) L
g SHNRE 9.8(m/s?) T H%B N.m

&



	页 1
	页 2
	页 3
	页 4
	页 5

